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(a) Nathan works out 23 x 12.4 without a calculator.

This is Nathan’s working.

10x12.4 =12.40

20x12.4 =24.80
3x12.4 =37.2

23x12.4 =24.80 +37.2 =62

Nathan’s working is incorrect.

Explain the error that Nathan has made and work out the correct answer.
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3 (a) Nathan works out 23 x 12.4 without a calculator.

This is Nathan’s working.

g O f,‘"___g_.ﬁ
E10><12.4=12.40? § ox 14 = |24

20 x 12.4 = 24.80
3x12.4 =37.2

N

23x12.4 =24.80 +37.2 =62

Nathan’s working is incorrect.

Explain the error that Nathan has made and work out the correct answer.

0X 124 =124

------------------------------------------------------------------------
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2 (a) Write these fractions as decimals. RN

n 9
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(b) A plank of wood 2.4 m long is cut into 6 pieces of equal length.

N3 How long is each piece?
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(a) Write these fractions as decimals. Created by W Neill
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(b) A plank of wood 2.4 m long is cut into 6 pieces of equal length.

N3 How long is each piece? O )
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7 Work out £3.89 x 5

(Total for Question 7 is 2 marks)




7 Work out £3.89 x 5§

23%9
\QMS

Created by W Neill

(Total for Question 7 is 2 marks)
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23 Workout 54.6 <43

(Total for Question 23 is 3 marks)
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23 Workout 54.6 x4.3
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(Total for Question 23 is 3 marks)
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0.06 x 0.0003

0.01

21 Work out

Give your answer in standard form.

(Total for Question 21 is 3 marks)
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0.06 x 0.0003
21 Work out ]

0.01
Give your answer in standard form. K\OO
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(Total for Question 21 is 3 marks)
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Work out

25.68 + 12

Answer
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[2 marks]
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Work out

25.68 + 12
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[2 marks]




